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PART A: Grammar and Vocabulary Sense of Appreciation

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the correct

- \ S
choice on your answer sheet. i

PY dxio 51D dxivo

61-Please pay attention in class or you ... remember anything for the test next week. 1 oS3t 33
Saving Natu
1) aren’t going 2) won’t ! \ni)i "
3) shouldn’t 4) weren’t YA xiuo 61D axxiso

62- A: You can’t carry this heavy luggage yourself. I ... you a hand.
B: Oh, thank you very much.
1) was giving 2) going to give
3) will give 4) give
63-In my opinion, winning the first competition can ... the team’s confidence.

1) boost 2) defend
3) identify 4) measure

64- Medical resources approve that unnecessary traveling, gathering in parties, and not wearing masks ...
the risk of developing the coronavirus, especially the mutated type, Delta.
1) improve 2) reflect

3) increase 4) prevent

65-Dr. Smith recorded everything that happened to him in his ... . Luckily, it was published after his

death.
1) textbook 2) translation
3) diary 4) poem

66-The teacher couldn’t control the class anymore, so she decided to ... the class into groups of four and
five and selected a team leader for each group.
1) divide 2) achieve
3) develop 4) produce

67- When Jennifer entered the room, we all ... laughter, as she was wearing a funny costume.

1) made up 2) burst into
3) kept on 4) gave up
68-They decided to destroy the ancient building and create a local museum ... .
1) anymore 2) instead
3) nowadays 4) abroad

69- Although my grandmother suffers from eyesight problems and she is also a little ... of hearing, she
has got a great memory and can recall her childhood very well.
1) difficult 2) proud
3) hard 4) poor
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70-The people of the town collected money and ... a charity organization to help the flooded people who

had faced many difficulties.
1) founded 2) invented
3) regarded 4) respected

71- Unfortunately, my grandfather ... his balance and fell when he was trying to change the bulb.
1) kept 2) lost
3) lowered 4) saved

72-The shopkeeper offers a/an ... discount if you buy more than a certain amount.
1) generous 2) dedicated

3) sudden 4) alive

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct choice on your

answer sheet.

The effect of sibling relationships in childhood can last a lifetime. Many experts say that the relationship
among brothers and sisters explain a great deal about family life, ...(73)... today when brohers and sisters
often spend more time with each other ...(74)... with their parents.

Studies have shown that sibling relationships between sister-sister pairs and brother-brother pairs are
different. Sister pairs are the closest. Brothers are the most competitive. Sisters are usually more
supportive of each other. They are more talkative, frank, and better at ...(75)... themselves and sharing
their feelings. On the other hand, brothers usually have more arguments with each other.

Experts agree that relationships among siblings are influenced by many factors. ...(76)..., studies have
shown that both brothers and sisters become more competitive and aggressive when their parents treat
them differently from one another. Moreover, genetics, gender, life events, birth order, people, and

experiences outside the family all shape the lives of siblings.

73- 1) especially 2) rarely 3) exactly 4) wrongly

74- 1) like 2) than 3) as 4) from

75- 1) preparing 2) narrating 3) expressing 4) expecting
76- 1) However 2) No matter 3) Despite 4) For example

PART C: Reading Comprehension

Directions: Read the following passage and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice

on your answer sheet.

Zoos are popular attractions for adults and children alike. But are they actually a good thing?
Those who are against zoos would argue that animals often suffer physically and mentally by being
enclosed. Even the best artificial environments can’t come close to matching the space, diversity,
and freedom that animals have in their natural homes. This deprivation causes many zoo animals
to become stressed or mentally ill. Capturing animals in the wild also causes much suffering by
splitting up families. Some zoos make animals behave unnaturally. For instance, marine parks
often force dolphins and whales to perform tricks. These mammals may die years earlier than their

wild relatives, and some even try to commit suicide.



"ﬁrg‘f‘;
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On the other hand, by bringing people and animals together, zoos have the potential to educate the
public about conservation issues and inspire people to protect animals and their habitats. Some
zoos provide a safe environment for animals which have been mistreated in circuses, or pets which
have been abandoned. Zoos also carry out important research into subjects like animal behavior or

how to treat illnesses.

One of the most important modern functions of zoos is supporting international breeding
programs, particularly for endangered species. In the wild, some of the rarest species have
difficulty in finding mates and breeding, and they might also be threatened by poachers, loss of
their habitat, and predators. A good zoo will enable these species to live and breed in a secure

environment.

77- What is the primary purpose of the passage?
1) To prove that zoos are not a good thing
2) To compare the negative and positive sides of zoos
3) To introduce a new type of zoo

4) To describe a new way of saving endangered animals

78-The word “conservation” in paragraph 2 is closest in meaning to ... .
1) protection 2) creation

3) communication 4) education

79- According to the passage, international breeding programs supported by zoos ... .
1) have not been successful yet, although it is too soon to see the results
2) are only useful for endangered animals and help them to have children
3) inform hunters about the harmful effects of their activities

4) show that zoos are not necessarily a bad thing and that they can take positive actions

80- Which of the following statements is supported by the passage?
1) Children like zoos more than adults do.
2) Nowadays, good zoos are able to match the space, diversity, and freedom that animals have in their natural
homes.
3) Trying to make animals behave unnaturally may result in early death among them.
4) All endangered species must be necessarily kept in zoos because they have difficulty in finding mates and

breeding in the wild.
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